FBEIFVAETEFE n TR HREEHK

No. £ 2V HF | A | FES £ R ThETH 1st ond | B4 | eewn [wams |srmEm
23 A 4%9F vab 8 25 187% ~ 29 DE (B ERQ) EER 6.11 6.02 | 12.13 1 1 1
3 R K Ny Y 8 26 187 ~ 29 DE (B ERQ FILE 6.09 6.07 | 12.16 2 2 2
5 Fih & 7 Yan E:) 27 1815 ~ 295 D ER (B ERRC) RERRT 6.19 6.11 | 12.30 3 3 3
10 A hEr 99% E:) 24 187% ~ 29 DER (B ERKRQ) KBRAF 6.23 6.09 | 12.32 4 4 4
547 KB EHh Y/ Wy E:) 22 | 18@~29mDE (EREMR) | RETRACK&FIELD 6.23 6.14 | 12.37 5 5 5
668 HhHF EX The V&Y ) 25 187% ~ 29 DE (B ERKRQ) T4—ILEFYX 6.20 6.17 | 12.37 5 5 5
54 ME B8E Aha e E:] 35 307% ~ 39 DR EER 6.24 6.16 | 12.40 7 7 1
39 wEiE B A —yih b E:] 29 187% ~ 29 DE (B ERKRQ) RIEHET 6.29 6.16 | 12.45 8 8 7
294 INE R 14 3y 5 45 407% ~ 49 D ER KB AT 6.25 6.26 | 12.51 9 9 1
12 il & I 9 19% ) 25 187% ~ 29 DEF (B ERKRQ) KB AT 6.32 6.19 [ 12.51 10 9 8
83 JIA K hs 44 ) 26 187% ~ 29 DE (B ERKRQ) AR 6.28 6.28 | 12.56 11 11 9
462 MHE & Thy %y 8 15 EREDED = 4ERET 6.37 6.25 | 12.62 12 12 1
213 wE R Ve L EY) E:) 14 h2 4D ERM 6.31 6.33 | 12.64 13 13 1
120 tH #Et 918 4y ] 36 307% ~ 39 DER KB AT 6.43 6.32 | 12.75 14 14 2
71 LN PN W) YAy Y ] 39 307% ~ 39 DR KB AT 6.42 6.34 | 12.76 15 15 3
210 2B Ez{- ant 7479 E:) 15 h2 4D REBRT 6.40 6.44 | 12.84 16 16 2
121 BEA  hE f9F 19% ] 25 187 ~ 29 DE (B ERKRQ KBRAF 6.47 6.38 | 12.85 17 17 10
314 Lt =8 9IZY 4h)Y 8 40 407% ~ 49 D ER KB AT 6.48 6.42 | 12.90 18 18 2
94 AH #lX vy U E:] 25 1815 ~ 295 D ER (B ERRC) TRERRT 6.54 6.38 | 12.92 19 19 11
304 it BASE Thih7 $+v 8 34 307% ~ 39 DER KBRAF 6.54 6.42 | 12.96 20 20 4
128 E=H = ¥9) 714 E:) 25 187 ~ 29 DER (B ERKRQ) RS HT 6.58 6.47 | 13.05 21 21 12
677 Bl '% Nh7 7ht E:) 13 h2 4 DI T4—ILREFyX 6.53 6.56 | 13.09 22 22 3
703 e WKE 74FA" 1%tn B | 28 | 18@~298 02 (B R T4—ILRFYR 6.62 6.50 | 13.12 23 23 13
704 EX EA (2N E:) 13 R EDER T4—ILEFvX 6.58 6.56 | 13.14 24 24 4
15 MR &% Fhith 79y 5 44 407% ~ 49 D ER KFOEB LT 6.56 6.59 | 13.15 25 25 3
546 A YYEb 1% B | 24 | 18F%~29% D5 (BRERRL) | RETRACKEFIELD 6.69 6.52 [ 13.21 26 26 14
212 RE &3 TUIE 19b E:) 15 R EDER B30 6.55 6.69 | 13.24 27 27 5
568 WL =B 3397 kana’ B | 21 | 188~298 02 (B R Courir({Y—53) 6.67 6.57 | 13.24 27 27 15
558 EE HE Mng 4y E:] 39 307% ~ 39k DER Courir({Y)—2%) 6.67 6.64 | 13.31 29 29 5
683 A0 i N)'F eagh’ 8 12 24 DE T4—ILEFyX 6.71 6.61 13.32 30 30 6
545 #EA NE s ARk B | 38 308% ~ 39 D K IETRACK&FIELD 6.65| 667 13.32 30 30 6
218 JII;E  I&RE A" 19% E:) 14 R EDER B30 6.69 6.65 | 13.34 32 32 7
329 BE  BIA 9] 1794 5 [ 39 30 ~ 39 DR HER 6.73 6.61 | 13.34 32 32 7
22 S RIEEY) 8 27 187 ~ 29 DER (B ERKRQ) LBy 6.70 6.65 | 13.35 34 34 16
18 HE 18 Tht $+b 5 50 505% ~595E D ER KR AT 6.69 6.66 | 13.35 34 34 1
87 NI H A AR E:) 54 5075 ~ 595 D Eh KIRAF 6.69 6.69 | 13.38 36 36 2
60 Zix 1B YNy YL 8 49 407% ~ 495K DER HEE 6.69 6.70 | 13.39 37 37 4
211 a8 &N 9% 19AF B | 14 4 DER SERRT 6.66 6.74 | 13.40 38 38 8
51 ER OIEX 4% IHIY 5 45 407% ~ 49 D ER BIEHET 6.75 6.65 | 13.40 38 38 5
119 BE BE Ehvax hvay | B 51 505% ~595E D ER KR AT 6.69 6.71 | 13.40 38 38 3
596 fEaKR Kt #5714 B | 15 s DER =% 6.69 6.72 | 13.41 41 41 9
309 # WA ETECYY B | 42 4055 ~ 49 DR RERAT 6.78 6.63 | 13.41 41 41 6
534 S KiE 13Fh 9 E:) 14 h2 4 D5 EBiR R AR 6.75 6.70 | 13.45 43 43 10
317 BEH#H #A A4 3% % | 40 4085 ~ 4955 D ER FRERRF 6.75 6.71 | 13.46 44 44 7
281 =R E 17 4%y % | 36 308 ~ 39 D IR =R 6.83 6.64 | 13.47 45 45 8
297 TO EZ YEF 19% E:) 31 3085 ~ 398 D & AR 6.73 6.74 | 13.47 46 45 8
539 Bl =B Y47 1%tR E:) 13 i EDER EBiR AR 6.71 6.78 | 13.49 47 47 11
214 AE K h79% nLh E:) 14 h2 4 DI =RM 6.70 6.79 | 13.49 47 47 11
38 Ea —= D4~ hRIY 5 56 507% ~ 595 DR KR AT 6.86 6.69 | 13.55 49 49 4
614 & BX Y4 195" 4 E:) 13 4 DER T4—ILEFYX 6.75 6.81 13.56 50 50 13
215 =% KA Y19 4 hy% E:) 13 4 DER ERM 6.83 6.76 | 13.59 51 51 14
40 Mmoot Ny el 5 47 407% ~ 49 D ER KR AT 6.89 6.75 | 13.64 52 52 8
68 HE #HE Ehyng 19% E:) 24 18R ~ 29 DER (EIRERKRQ) KR AT 6.93 6.74 | 13.67 53 53 17
295 T8 EA NAZ TEb 5 40 407% ~ 49 D ER KR AT 6.83 6.85 | 13.68 54 54 9
84 maR JEE VL7 WY 5 44 407% ~ 49 D ER HER 6.86 6.82 | 13.68 54 54 9
533 e B %) V13 E:) 14 4 DER B R AR 6.87 6.82 | 13.69 56 56 15
599 BAR AL hYTEN Mt E:) 14 4 DER =% 6.79 6.90 [ 13.69 56 56 15
324 HR #EF hEnF Y3’ 5 34 307% ~ 39k DER ERM 6.86 6.83 | 13.69 56 56 10
597 FIl & i WEVY E:) 15 g DER =% 6.93 6.85 | 13.78 59 59 17
344 EX IEE h)h= el 5B | 39 30% ~ 39 DR KR FF 6.96 6.84 | 13.80 60 60 11
48 AT #H#N VU ELIY) E:) 24 18 ~ 29 DER (EIRERKRQ) KR AT 6.96 6.85 [ 13.81 61 61 18
306 ME EX 175" 3473 5 43 407% ~ 49 D ER RERRT 6.91 6.92 | 13.83 62 62 11
443 A0 EBH 425" F 744 E:] 14 4 DER RERRT 6.92 6.92 | 13.84 63 63 18
63 w B5F YhT b)) 5 47 407% ~ 49 D ER Fhe 6.95 6.90 | 13.85 64 64 12
630 AR w737 EORT 5 43 407% ~ 49 D ER T4—ILEFYX 6.98 6.98 | 13.96 65 65 13
367 HE MEKER A5 Yanhng 5 28 187% ~ 297 D IR (B ERC) ERM 7.01 7.01 14.02 66 66 19




F1RESA VAT EFE n TR RARER
31 TH #BN YF58 19k E:] 27 187% ~ 297 DB (B ERC) RERRT 7.02 7.01 14.03 67 67 20
598 G % bk E:] 14 4 DER =% 7.00 7.04 | 14.04 68 68 19
470 ] X Th¥v am4'4 E:] 13 4 DER EER 7.05 7.01 14.06 69 69 20
1 g gt hI9'F hov 5 54 507% ~595% DR RARRT 7.00 7.07 | 14.07 70 70 5
73 BIA EE I8 EF 4% 2] 37 307% ~ 39k DER KR AT 712 6.96 | 14.08 71 71 12
24 AL Foth F)XY hR'Y 5 36 307% ~ 395 DER KR AT 7.07 703 14.10 72 72 13
538 X FEZE Y/ Y3 5 14 hE A DER EB TR AR 7.03 709 1412 73 73 21
86 # Mz A/ hrx' 1% 5 55 507% ~595% DR ERM 7.07 706 1413 74 74 6
708 g FE—ER Thy'v hu4Fog| B 42 40% ~ 49 D ER A4 T—K 7.03 7.11 14.14 75 75 14
600 NI NG| EVAEA S E:) 14 g DER =% 6.98 718 | 14.16 76 76 22
633 & 83— FURVELYES B 39 307% ~ 39k DER T4—ILEFYX 7.17 7.01 14.18 77 717 14
316 #H B2 )4 ena% E; 46 40% ~ 49 D ER KBR AT 7.05 7141 1419 78 78 15
345 RO #= ' F 19y 2] 38 307% ~ 39k DER KBR AT 7.11 710 | 14.21 79 79 15
631 bR w737 Yak 8 12 4 DER T4—ILEFYX 7.16 706 | 14.22 80 80 23
371 Bl W& E97 Yao¥ E:) 14 g DER ERM 7.16 708 | 14.24 81 81 24
16 BmH RN 7494 A9RY B | 38 303% ~ 39 D& KB 6.90 7.39 | 14.29 82 82 16
301 R OEH AV Y avy E; 40 40% ~ 49 D ER EER 7.17 713 14.30 83 83 16
289 IR R an vy M E; 34 307% ~ 39k DER KBR AT 7.15 716 | 14.31 84 84 17
43 AR RH X/Eh YAT7H E; 36 307% ~ 39k DER KBRAF 7.17 717 | 1434 85 85 18
328 ERK KRE HE 13 =y 37 307% ~ 39k DER RARRT 7.18 720 | 14.38 86 1 1
283 B8 thth 2 VA E; 40 407% ~ 49 D ER KBRAF 7.21 719 | 14.40 87 86 17
312 KR ZBB hath van E: 50 507 ~ 595 D ER EZRM 7.20 7.21 14.41 88 87 7
1 A EE USELYYS E: 38 307% ~ 39 DER BIEET 7.21 7.21 14.42 89 88 19
540 £ =M % vy 8 13 HEAEDE EBI AR 7.25 722 1447 90 89 25
292 st K 9y {4 E: 37 307% ~ 39 DER KB AT 7.26 723 14.49 91 90 20
542 WE W#E ¥ Y43 £ 14 HEAEDE EBI AR 7.27 725 1452 92 2 1
641 ME R 155 9y E:) 12 4 DR T4—ILEFYX 7.25 727 1452 92 91 26
49 xH HE X/ 4y E: 51 507 ~ 595 D ER EZRM 7.19 735 1454 94 92 8
208 BiE AN IEVIRRIY E:) 13 HEAEDE BIEET 7.29 727 1456 95 93 27
129 Elh B YRR VAl E: 32 307% ~ 39 DER KB AT 7.29 730 | 1459 96 94 21
348 LWHE  #05h ¥4 AR En E: 37 307% ~ 39 DER REBAT 7.32 730 | 14.62 97 95 22
710 F8 HRE Thh7 493 E:) 29 18i% ~ 29 D AP (B EBRC) TrAT7—F 7.30 734 | 1464 98 96 21
2117 R B I8 TAY Z 14 hE A DE EZRM 7.34 7.31 14.65 99 3 2
61 e D43A" 33b E: 48 407% ~ 49 D ER HER 7.26 739 | 14.65 99 97 18
627 L =A Ve s | B 43 4055 ~49RE D EB T4—IEFyX 7.30 7.37 | 14.67 101 98 19
58 EH =T 43/ a9a4 E:) 52 507% ~ 59 D ER REBAT 7.29 7.39 | 14.68 102 99 9
302 aE EBEE 4=#4h T145h g8 | 4 4085 ~49B D EB KERAF 7.26 743 | 14.69 103[ 100 20
578 EH# BH Em E:] 12 4 DE 7B/ ithsC 7.33 736 | 14.69 104] 100 28
342 T+ EE YELT A3 E:] 27 18i% ~ 29 D EP (B EBRC) EER 7.48 727 1475 105] 102 22
76 Hg X5 4h 4 4Ar E:] 39 307% ~ 39 DER KEH 7.44 7.31 14.75 105] 102 23
62 B EA AR % YUY E:] 39 307% ~ 39 DER FFLE 7.45 732 | 14.77 107] 104 24
216 iy EF 37 hlY @ 14 4 DE HRW 7.44 7.38 | 14.82 108 4 3
303 HF B )M 48y E:] 39 307% ~ 39 DER N 7.43 7.41 14.84 109] 105 25
338 gl HFFE Thvv vaoa | B 45 405% ~ 49 DER EEE 7.34 751 | 1485 110] 106 21
717 xE B THh 74 E:] 27 18i% ~ 29 D EB (B EBRC) BHEH 7.40 745 1485 111 106 23
339 VEF &= NSh) vary | B 38 307% ~ 39 DER RFNEB LT 7.47 740 [ 14.87 112] 108 26
148 EX FEA Ho% 199 E:] 10 INBESEE ~6FELEDER EER 7.43 747 | 14.90 113] 109 1
591 54 ER M ¥3 @ 12 g DI 7B/ ithsC 7.44 748 | 1492 114 5 4
107 MH #X thy' an% &2 | 60 607% ~ 695% D AR =R 7.41 753 | 14.94 115 110 1
463 B}/ ISR ARF Lty E:] 13 hZE 4 DE KB AT 7.53 742 1495 116] 111 29
112 B kT AN Y E:] 25 18~ 29 D E (B ERC) KB AT 7.59 736 | 1495 116] 111 24
406 2L AFENHR) | B | 40 4085 ~ 49 DEB =R 7.47 749 | 14.96 118 113 22
319 WE —iE WA hA T E:] 49 407% ~ 49K D ER RERRT 7.42 754 | 14.96 118] 113 22
617 R ERF Z7 7¥3 x| 44 405% ~ 49 DER T4—ILEFyX 7.48 751 | 1499 120 6 1
508 ME - L% 2917 E:] 45 407% ~ 49K D ER =R 7.45 754 | 14.99 120] 115 24
320 XE Rlx AAVh 45y B | 48 4085 ~ 49 DEB FERF 7.51 752 | 15.03 122 116 25
313 WA EB YE EOT7F % | 36 30#% ~ 39K D &R KRAF 7.53 751 | 15.04 123] 117 27
513 HF EF 17 19% g8 1 INSESEE A4 ~ 64 DED EEE 7.56 749 | 15.05 124 118 2
509 fill EF Th¥v ha z 10 INESEE ~6FEEDER EER 7.56 750 | 15.06 125 7 1
583 HME R b 4l E:] 12 hZE 4 DE 7B/ ithsc 7.49 757 | 15.06 126] 119 30
637 BEEH XEH )/ t/h E:8 12 =Lk ok T4—ILEFYX 7.48 759 | 15.07 127 8 5
595 IR #bth Ay #y E:8 23 18~ 29 D E (B ERC) 7B/ ithsc 7.52 756 | 15.08 128 9 1
209 =g BEX AhYv 44 B | 13 shE 4 DER F FHT 7.51 757 | 15.08 129 120 31
284 WE BHE VI TYNA B [ 39 30%% ~ 39K D AR ABRAF 7.54 756 | 15.10 130 121 28
115 =F FX Yhr a%4 E:] 58 507% ~59:% D ER KBRAF 7.49 763 | 15.12 131 122 10
619 AR £iE 7 313 k=8 12 ==lak ok T4—ILEFYX 7.49 766 | 15.15 132 10 6
308 tEh S #1 v 5 [ 38 30#% ~ 39K D AR =R 7.58 760 | 1518 133 123 29
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537 AE K L35 54 E:] 14 4 DER EB TR AR 7.64 759 | 15.23 134 124 32
140 HmH EX WEIREVE] E:] 11 INPBEE ~GEEDER HER 7.61 7.62 | 15.23 134 124 3
674 =T RV Th=y 194 E:] 12 4 DER J4—ILEFyX 7.67 757 | 15.24 136 126 33
152 =2k B a0t 741 E:] 11 INPBEE ~GEEDER RARRT 7.59 7.70 | 15.29 137 127 4
622 X FEi nNHx FHh =y 14 4 DER J4—ILEFyX 7.63 7.76 | 15.39 138 11 7
158 s =R 993 Y37 5 11 INPBEE ~GEEDER ERM 7.61 7.78 | 15.39 138 128 5
629 BEll BEE PAEAE: =y 10 INPSEE ~GEEDER J4—ILEFyX 7.75 7.68 | 15.43 140 12 2
44 mHE EN The A9y 5 42 407% ~ 49 D ER ERM 7.73 7.71 15.44 141 129 26
78 WA HE YYE 15 =y 50 507% ~595% DR ERM 7.66 7.78 | 15.44 141 13 1
541 INE &N YIN' D 19ah E:) 13 g DER EBTR AR 7.67 7.79 | 15.46 143] 130 34
634 T Y 744 £ 12 g DER T4—ILEFYX 7.62 7.89 | 15.51 144 14 8
675 e CZCh A9V 3% oy 12 g DER T4—ILEFYX 7.71 7.80 | 15.51 144 14 8
605 [ SRS YL kTt =y 15 g DER =% 7.72 7.81 15.53 146 16 10
105 =H B VEE I E; 71 7075 ~79RE DER RARRT 7.82 7.74 1 15.56 147] 131 1
621 R T|BA VeSS 8 11 INFESEEHE ~ A D ED T4—ILEFyX 7.78 7.81 | 1559 148] 132 6
80 B EFEX N ET 3 E; 60 607% ~ 695% DR KBR AT 7.79 7.80 | 15.59 148] 132 2
321 EH fE— B4 FuAF E; 48 40% ~ 49 D ER RARRT 7.71 7.91 15.62 150] 134 27
569 il BTE IV YA h =y 12 INPSEE ~GEEDER Courir(Y)—3) 7.74 790 | 15.64 151 17 3
632 ER O BA w939 19 E:) 10 INPBEE ~GEEDER T4—ILEFYX 7.73 793 | 15.66 152] 135 7
645 50 EXR 131h 241 =y 13 g DER T4—ILEFYX 7.90 7.77 | 15.67 153 18 11
376 HH A EVZ IS E; 54 507% ~595% DR RF0EB LT 7.71 7.96 | 15.67 153] 136 11
42 TE M E739% 740 E: 39 307% ~ 39 DER KB AT 7.71 797 | 15.68 155] 137 30
601 AR BEF 1yng nha @ 15 4D ER =% 7.84 786 | 15.70 156 19 12
589 B E NP LI 8 1 INESEE ~6FELEDER JB/ithsC 7.717 793 15.70 156] 138 8
330 FH TR rhe %4 E:) 44 407% ~ 49 D ER =il 7.70 8.02 | 15.72 158] 139 28
331 AR REE AR'F 497 E: 44 407% ~ 49 D ER KB AT 7.87 785 15.72 158] 139 28
642 A AN 155" 45t E:) 10 INESEE ~6FELEDER T4—ILEFYX 7.71 8.02 | 15.73 160] 141 9
203 A XE 54T 7Y% Z 11 INESEE ~6FELEDER EZRM 7.83 7.91 15.74 161 20 4
17 IR BF I4h F3by E: 49 407% ~ 49 D ER LR 7.73 8.01 15.74 161 142 30
647 R B 755 7Y E:S 10 INESEE ~6FELEDED T4—ILEFYX 7.84 792 15.76 163 21 5
291 Hfl BA 47°F eab E: 42 407% ~ 49 D ER T FHT 7.84 792 15.76 163| 143 31
606 BA YL Ep 4 @ 15 4 DR =% 7.97 780 | 15.77 165 22 13
691 EBFT BRTE ISR Z 11 INBESEE ~6FELEDER T4—ILEFYX 7.81 796 | 15.77 165 22 6
604 HHE KE a5 Int @ 15 4 DR =% 7.91 787 | 15.78 167 24 14
334 K BEE T4/ ¥AEa E: 39 307% ~ 39 DER KB AT 7.96 782 15.78 167| 144 31
444 ARE it hath v9 E:] 12 4 DE HRW 7.88 7.91 15.79 169| 145 35
659 BH #HE 94 19t E:S 12 g DI T4—ILEFYX 7.97 785 15.82 170 25 15
649 NI iR Ah'7 en7E 5 40 40/% ~ 49 D ER T4—ILEFYX 7.86 797 15.83 171 146 32
118 K £ IR4Z ahy E:] 52 507 ~ 595 D ER FFLE 7.87 7.96 | 15.83 171 146 12
201 =ZH %X ENVZ M2 E:] 1 INESEE ~6FELEDER HRW 8.10 7.79 | 15.89 173] 148 10
333 E% ExX 4 vy 8 | 47 40%% ~ 4955 DER E3:=N 7.93 796 | 15.89 173 148 33
29 1EH  /ABR ZEE 5B | 52 507% ~ 594% D &R B 8.01 7.89 | 15.90 175] 150 13
593 AR 8 THhE 7Y £ 12 g DI 7B/ ithsC 7.82 8.08 | 15.90 176 26 16
82 i F=H ISELYYS g8 | 51 507% ~ 595% D &R =R 7.90 8.00 | 15.90 176] 150 13
74 TR G 9 4L W % | 36 307% ~ 394 D& E3=N 8.01 7.90 | 1591 178 152 32
560 ER # Mng iy E:] 12 4 DE Courir(Y)—3) 7.95 8.01 15.96 179] 153 36
346 £H =35k LS E B | 45 4085 ~49B D EB KERAF 7.91 8.05| 15.96 179] 153 34
590 AR & VIR @ 12 4 DE 7B/ ithsC 7.82 8.17 | 15.99 181 27 17
354 B BE vt) 743 £ 11 INESEE ~6FELEDER KBRAF 7.95 8.05 | 16.00 182 28 7
521 il EXR Thev 194 E:] 10 INBESEE ~6FEEDER EER 7.94 8.06 | 16.00 182] 155 11
326 =H EVZ V] E:] 37 307% ~ 39 D ER =R 8.01 8.01 | 16.02 184| 156 33
8 HE R LA7h3 747 5 54 507% ~ 595 D ER RFNEBILTH 7.96 8.06 | 16.02 184| 156 15
658 ER BE4E sy E:] 12 hZE 4 DE T4—ILEFYX 8.02 8.01 16.03 186] 158 37
485 L7 &R 9IZY AV E:8 11 INESEE ~6FEEDER KB AT 7.91 8.12 | 16.03 186 29 8
644 ME FHEK 157" %% E:8 11 INBESEE ~6FEEDER T4—ILEFYX 7.96 8.09 | 16.05 188 30 9
57 INE Bl 5% bohY B | 55 504% ~ 595% D &R KR FF 8.05 8.02 | 16.07 189 159 16
615 A3 #4923 z 10 INBESEE ~6FEEDER T4—ILEFYX 7.93 8.16 | 16.09 190 31 10
395 HRN EF W9F 1) | 33 308% ~ 39 D ER =R 8.03 8.06 | 16.09 190 31 2
151 HwEH BX %) Y94 E:] 10 INESEE ~6FEEDER EER 7.92 8.18 | 16.10 192] 160 12
412 SH HDE 134 31% E:8 37 307% ~ 39 D ER KB AT 7.86 8.24 | 16.10 192 33 3
388 BAH #%x 94 EO3 E:8 4 407% ~ 49K D ER TRERRT 8.07 8.04 | 16.11 194 34 2
399 ErRAK EE HE 49/ B | 37 30#% ~ 39K D &R FERF 8.07 8.06 | 16.13 195 161 34
475 T BEE bAEIS k=8 15 EREDE REBAT 8.01 8.13 | 16.14 196 35 1
581 £ BRM 1% 74Y k=8 12 =lak Ok 7B/ ithsc 7.93 8.22 | 16.15 197 36 18
684 RIL B Eh VY 7A3 k=8 11 INESEE ~6FEEDER T4—ILEFYX 8.06 8.10 | 16.16 198 37 11
141 HiE AR WVEEVIN VY 8 11 INESEE ~6FEEDER BIEHET 8.05 8.11 | 16.16 198]| 162 13
563 E0O D F N4y 8 10 INESEE ~6FEEDER Courir({Y)—%) 8.07 8.10 | 16.17 200 163 14
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3 5H F=E 134 M2k 5 46 407% ~ 49 D ER KR AT 8.01 8.17 | 16.18 201 164 35
296 HE E—ER 478 avqFnn| B 59 507% ~595% DR ERM 7.90 8.28 | 16.18 201 164 17
446 Lt RE 912y hbY =y 15 EREDE KR AT 7.96 8.23 | 16.19 203 38 2
673 by E& Thiz 199 E:] 10 INPBEE ~GEEDER J4—ILEFyX 8.06 8.14 | 16.20 204| 166 15
132 et BER A eT't 5 50 507% ~595% DR TRARRT 7.85 8.36 [ 16.21 205| 167 18
566 s R 447 154 =y 11 INPBEE ~GEEDER Courir(Y)—3) 8.12 8.13 | 16.25 206 39 12
654 AT 8B /99 T4 =y 11 INPSEE ~GEEDER J4—ILEFyX 8.11 8.14 | 16.25 206 39 12
37 B BE #h4 3k 5 41 407% ~ 49 D ER TRAERRT 8.23 8.02 | 16.25 206| 168 36
607 KA BE T4 Fadh =y 14 4 DER =% 8.07 8.19 | 16.26 209 41 19
535 A EX =Y o4 E:) 14 hEAEDER EBTR AR 8.17 8.14 | 16.31 210 169 38
318 AN HiE hh4= wh)7° E; 49 40% ~ 49 D ER RARRT 8.21 8.12 | 16.33 211 170 37
28 WHE EF Y4 393 oy 66 607% ~ 695% DR RFE0EB LT 8.12 8.22 | 16.34 212 42 1
584 BAR Kith ah% 54 8 11 INPSEE ~GEEDER B/ ithsSC 8.05 8.30 | 16.35 2131 171 16
137 MR +tiE Thh 13 =y 8 INFIEE ~AEEDER RFE0EB LT 8.26 8.10 | 16.36 214 43 1
486 b N E 2| AR F nbb B 10 INFIEE ~AEEDER 4 BT 8.30 8.07 | 16.37 2151 172 1
516 PO RE o F 4% 8 12 g DER KBR AT 8.19 8.21 16.40 216 173 39
695 Ziy TE 37 7 oy 10 INPSEE ~GEEDER T4—ILEFYX 8.21 8.19 | 16.40 216 44 14
400 BEF fh— 19/ n4 E:) 11 INPSEE ~GEEDER HER 8.21 8.20 [ 16.41 218 174 17
697 T KE 3 1 =y 10 INPBEE ~GEEDER T4—ILEFYX 8.21 8.22 | 16.43 219 45 15
178 NHF HE 454 ] 3 =y 11 INPBEE ~GEEDER o 8.22 8.24 | 16.46 220 46 16
189 FE KR ThY' v & E:) 11 INPSEE ~GEEDER HER 8.25 8.21 16.46 2201 175 18
498 EE EH #04" 3% £ 39 307% ~ 39 DER REBAT 8.22 8.25 | 16.47 222 47 4
418 g Bz 1313 I E: 4 407% ~ 49 D ER KB AT 8.22 8.25 | 16.47 222 176 38
204 BA BE 1y E D4t 8 10 INEIEE ~AFEEDER ERT 8.25 8.25 | 16.50 224 177 2
55 NI EH agh™m Iy E: 57 507 ~ 595 D ER ZRM 8.33 8.22 | 16.55 2251 178 19
650 N RF LAWY £ 11 INBESEE ~6FELEDER T4—ILEFYX 8.17 8.39 | 16.56 226 48 17
451 WH —H W 4T E:) 9 INEIEE ~AFEEDER REBAT 8.30 8.29 | 16.59 2271 179 3
85 mE TH Ut F7% Z 37 307% ~ 39 DER KB AT 8.32 8.27 | 16.59 227 49 5
153 EH BRA #95° 71h E:) 10 INEIEE ~AFEEDER ZRM 8.21 8.40 | 16.61 229 180 4
13 EH R IRe A E: 67 607 ~ 695% D ER [LFEHET 8.11 8.53 | 16.64 230 181 3
92 i HF 30 Ma @ 42 407% ~ 49 D ER ZRM 8.36 8.29 | 16.65 231 50 3
352 ER =EC 17 3% E:) 10 INESEE ~6FEEDER ZRM 8.32 8.34 | 16.66 232 182 19
4 BK  Ef VR RVES E: 51 507 ~ 595 D ER REBAT 8.16 8.50 | 16.66 232 182 20
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